Discussion 5
Use the following to answer questions 1-2:

A company is studying the number of monthly absences among its 125 employees.  The following probability distribution shows the likelihood that people were absent 0, 1, 2, 3, 4, or 5 days last month.
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1.  What is the mean number of days absent? 

A)  1.00 

B)  0.40 

C)  0.72 

D)  2.5 

2.  What is the variance of the number of days absent? 

A)  1.99 

B)  1.41 

C)  5.00 

D)  55.52 

3.  An insurance agent has appointments with four prospective clients tomorrow.  From past experience the agent knows that the probability of making a sale on any appointment is 1 out of 5.  Using the rules of probability, what is the likelihood that the agent will sell a policy to 3 of the 4 prospective clients? 

A)  0.250 

B)  0.500 

C)  0.410 

D)  0.026 

Use the following to answer questions 4-5:

Bottomline Ink, a forms management company, fills 100 orders a day with a 2% error rate in the completed orders.  Assume this to be a binomial distribution. 
4.  What is the mean for this distribution? 

A)  0.02 

B)  1.4 

C)  2 

D)  There is no mean for this type of distribution. 

5.  What is the standard deviation for this distribution? 

A)  0.02 

B)  4 

C)  2 

D)  There is no standard deviation for this type of distribution. 

Use the following to answer questions 6-8:

A statistics professor receives an average of five e-mail messages per day from students.  Assume the number of messages approximates a Poisson distribution. 
6.  What is the probability that on a randomly selected day she will have no messages? 

A)  0.0067 

B)  zero 

C)  0.0335 

D)  Impossible to have no messages 

7.  What is the probability that on a randomly selected day she will have five messages? 

A)  0.0067 

B)  0.875 

C)  0.175 

D)  1.0 

8.  What is the probability that on a randomly selected day she will have two messages? 

A)  0.0067 

B)  0.0014 

C)  0.420 

D)  0.084 

Use the following to answer questions 9-10:

From his experience, the manager of a bank estimates that the probability is 0.025 that an applicant will not be able to repay his installment loan. Last month he made 40 loans. (use the Poisson distribution to answer the questions 9 and 10
9. The expected number of loans that will be defaulted is:
A)  0.0067 

B)  0.875 

C)  0.175 

D)  1.0 

10. The probability that none of the loans will be defaulted is
A)  0.3679 

B)  0.0498 

C)  0.175 

D)  1.0 

11.  For the normal distribution, the mean plus and minus 1.96 standard deviations will include about what percent of the observations? 

A)  50% 

B)  99.7% 

C)  95% 

D)  68% 

12.  For a standard normal distribution, what is the probability that z is greater than 1.75? 

A)  0.0401 

B)  0.0459 

C)  0.4599 

D)  0.9599 

13.  What is the area under the normal curve between z = 0.0 and z = 1.79? 

A)  0.4633 

B)  0.0367 

C)  0.9599 

D)  0.0401 

Use the following to answer questions 14-15:

The average score of 100 students taking a statistics final was 70 with a standard deviation of 7. 
14.  Assuming a normal distribution, approximately how many scored 90 or higher? 

A)  0.4979 

B)  0.0021 

C)  0.9979 

D)  2.86 

15.  Assuming a normal distribution, approximately how many scored less than 60? 

A)  0.2271 

B)  0.8929 

C)  – 1.14 

D)  None of the above 

Use the following to answer questions 16-17:

The average starting salary for new college graduates in computer information systems is $47,500. Assume salaries are normally distributed with a standard deviation of $4,500.
16. What is the cutoff for the bottom 5% of the salaries? (above which 95% of the graduates will be?)

A)  $400,097.5 

B)  $4,097.5 

C)  $40,097.5
D)  None of the above 

17. What is the cutoff for the top 3% of the salaries? (below which 97% of the graduates will be?)
A)  $5,596 

B)  $559,600 

C)  $55,960
D)  None of the above 
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